mERTREETSER 15 7H W W OR RO O M OB 460 t |
[BF3% 383 t ] - [BE 77 ¢ ]
W ATWEIIRIESB AL 22 % JINEZUN Wi ATFEIXRIESEE 1 % T’E
S _ | B oA A (BhaAR)
ijg | 3 B - E '

i H TEEM | B AL | & E % & T E TEEM | B | & & Z &
e = B 10 ke 1, 080 756 | A fgkil | 10 ke 3, 456 1, 080
Hg IR EEE 200 g| 108 — | WA  FoERL 10 ke 2, 700 2, 160
LA = R 200 g 108 43 | »LC - & & 10 ke 3,888 1,404
TEDR & M 200 g 108 86| TAANLE— = R 270 | - 378 162
E5 A% 5 = B 200 ¢ 151 86 | WDHDH | & B 270 g 378 162
ERE = AN 150 g 108 — | HEfEE B R 270 g 540 1324
L AEL X B 180 ¢ 140 5 T—LRAT # 9 ke 9, 720 7, 020
el AR £ IH 10 ke 864 - |
FEEEIZA LA T+ ¥ 10 ke 1,944 1,512
IE< & FEER L 12 ke 972 | = —

X Y = A 10 ke 1,296 864
L&A £ E 10 ke 3, 564 2, 700
Zwo5 Y Eal5 5 ke 1, 944 1,512
Aach = A 5 ke 2, 160 1,728
h< b Ag A 4 kg| - 1,404 —
-y B A 150 g 75 64
Bl x BRE | 10k 2,376 9, 268
rERE JbyiEE 20 kg 1,728 1,512
AL == 100 g 216 108
LDHLE B ¥ 100 g 59 43
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HERE R P REE TS &E R 1B 7H WO Kk B MM OR % B 45t
B ATWEILRTESE A AU E¥bxb  [#EA 26 t ] [®mE 8t ] [(5F+ 11t ]
| | BOAr 1 (BIAA)
g A =0 +
AT H FEEM | BE | 5 @& & A = FEEM | B | & E %7 B
AESHE - FnER L 1 kg 2, 570 2,160 | HEH TAIUD 1ke 2, 160 864
mESAHHE RPaEE 1 ke 972 864 | HEHS J VT — 1 ke 1,080 432
V% twFF ‘1ke 896 194 | ¥ T = =P 1 kg 1,836 1,296
A " 1 ke 2,052 248 | A B 1 ke 1,512 1, 080
AT T O 1 ke 237 194 | FVU AV It & lke 3, 456 1,188
AV AA T % |  lke 1,263 gd2 | BTV~ e 1 ¥ 226 54
&N T ™ B - 1ke 1,231 216
& & A B OR 1 ke 1, 404 216
EFF = T 3£ 1kg 1,728 756
INE g 1ke 702 648
7 AE K 1 kg 1, 296 486
T % = & 1 kg 2, 592 648
k) IR S 1 ke 1, 350 637
YUZ & 1 ke 1, 296 378




